PROFESSIONAL EXAMINATION BOARD

Training Officer’s Selection Test : 2016

6th November 2016, 12:00 PM
Topic:- General Knowledge

1)

Question Stimulus :-

Who laid the foundations of Space Technology in India? / HRd # safver wenfiret &t Hq @ ara
fed o &2

e Dr. M.G.K.Menon / m@ﬁﬁ%ﬁﬂ

e Vikram Sarabhai/ ﬁﬁ"_ﬁm"-ﬂg

e Dr. Raja Ramanna/ ST. XTSIT THAT

« Homi J.Bhabha/ Gt SL.HTHT
Correct Answer :-Vikram Sarabhai/ fasd H'RT‘J-I'I%
2)
Question Stimulus :-

Who was recently removed from the post of Chairman in the Tata Group? / 11 Bl ﬁ, CEEE L Cg
e ug | fbd gerar mar U

e Ratan Tata / Id- CICT

e JR.D.Tata /. 3R. 1. TTeT

e Cyrus Mistry / HIgIH ot

e Azim Premyji/ 3ot gt
Correct Answer :-Cyrus Mistry / |dIgXH ot
3)
Question Stimulus :-

Which of the following rivers does not originate in Madhya Pradesh? / ﬁﬂ:lff T ¥ fog At @1 3&H

YT YT H e 82
e Waiganga / dTSIIT
e Shipra/ R
e Banas/ddTH

e Chambal / Idd



Correct Answer :-Banas / 941
4)
Question Stimulus :-

Which state capital in India was designed by Le Corbusier, the French architect? / g YR I

1 WU B 64 snfdbeae ot Pigfog gRT fEoms far man g2
e Chandigarh / il:‘ﬂTIE
e Shimla / FRreaT
e Bhubaneswar / '{-ﬁﬁ"!ﬂ
e Gandhinagar / e TR
Correct Answer :-Chandigarh / iﬁﬂTIE
S)
Question Stimulus :-

In which of these towns do the rivers Alakananda and Bhagirathi merge to form the river Ganga? /

Pore & @ e TR B, sre@TaT @ umRe Afa, T At & Prwior 3 frd frer st 2
e Rudraprayag / 3gUANT
e Haridwar / 8RgR
e Varanasi / GRTOTH]
¢ Devprayag / a_cl'lil'Q'l"T
Correct Answer :-Devprayag / éatmm
6)
Question Stimulus :-

Arrange the civilian awards in the ascending order of importance / Hgcd & SMYR W, AR S

U] B 391 AR HH W UGRUT B

e Padmabhushan, Padmavibhushan, Padmashri, Bharat Ratna / USTYUUT, Wﬁ‘lﬁl’UT, tﬁ]’%ﬂ,
HRT XA

e Bharat Ratna, Padmavibhushan, Padmabhushan, Padmashri / HIRd ¥, tﬁl’ﬁw, R LA
LEiE]

e Padmashri, Padmabhushan, Padmavibhushan, Bharat Ratna / W&ﬁ, UIYuuy, Wﬁ"lﬂw,
HRT XqA

e Padmashri, Padmavibhushan, Padmabhushan, Bharat Ratna / tﬁ]'%ﬁ, Wﬁw, PEHE CLYR
HRT XA



Correct Answer :-Padmashri, Padmabhushan, Padmavibhushan, Bharat Ratna / W%ﬁ, YTHuy,

QI aYuoT, YR I
7)
Question Stimulus :-

Which law covers the relationship between the pressure of a gas and its volume? / fPafaus

3T 9 & a9 3R $9! 7 & St daul ) fAfga fear man g2
Boyle’s Law / CIGEIRE UL

Leibnitz’s Law / dTga e &1 s

Gauss’s Law / 7119 &1 fAqq

Mendel’s Law / Agd &1 0w

Correct Answer :-Boyle’s Law / q19d &1 g

8)
Question Stimulus :-

Which Indian cricketer has been conferred the Arjuna Award for the year 2016? / a9 2016 F ﬁl’({

fa uRd frdrex & S PR wer far mar g2
e Virat Kohli / faRTe ®iget
e Mahendra Singh Dhoni / 'FI%T'['Q' ﬁl? SIEi]
e Ravichandran Ashwin /Tﬁ?iﬁ Gl'f%T-[
e Ajinkya Rahane / Sffoiry Q?Tﬁ
Correct Answer :-Ajinkya Rahane / Sffoid ?_E-'Tlﬂ'
9)
Question Stimulus :-

Which of the following is NOT a UNESCO world heritage site of Madhya Pradesh? / HYd SR DI

DI U o118 TP &1 fay eRig: | =nfire A8t 82
Khajuraho groups of monuments / EW WHRD g

Rock Shelters of Bhimbetka / HHAC®T & UTHTOT 31T

Buddhist monuments of Sanchi / il ®T IS 4
e Udyagiri caves of Vidisha / fafe=m @t Ieafiiy '{ICFI'Q
Correct Answer :-Udyagiri caves of Vidisha / fafe=n &t sgafiiy '{FFI'Q

10)



Question Stimulus :-

In which year was Project Tiger launched? / “Yrolee CISTIR” DI werqur fore o o BT YUT?

1995

1975

1973

e 1970
Correct Answer :-1973
11)
Question Stimulus :-

In which district of Madhya Pradesh is ‘Bharat Oman Refineries Ltd’ set up in 2011 by Bharat
Petroleum Corporation Ltd and Oman Oil Company located? / H& Uex & fpa ford # URa

e iferan SIuRIE Tt i RwE-RIw gRT ®ITfd <uRd 3w Reg fafies Rua @2
e Damoh / aTFﬁ?
e Sagar /AR
e Ashoknagar / 3RMTH TR
e Shivpuri/ ﬁﬁ'ﬁ'ﬁ
Correct Answer :-Sagar / IR
12)
Question Stimulus :-
Near which monument will you find the Iron Pillar? / P9 TR & UT9 TP die WY fFram?
e Charminar / IRFUAR
e Qutub Minar / $gIHHR
e Taj Mahal / dTSTHg A
e Hawa Mahal / gdTHg

Correct Answer :-Qutub Minar / W’lﬂqﬂ'
13)

Question Stimulus :-

Where is Holkar Cricket Stadium situated? / W fpdhe Tfesaw Dal Ra %?

e Indore/ s‘cﬁ?
e Gwalior / @TeIAR



. Bhopal/“-ﬁ'lTlFf

e Rewa/3al
Correct Answer :-Indore / E'Ea?
14)

Question Stimulus :-

Alberuni was a historian during the period of / 3¢ o1 fpad 2= ot srafr o Udh Eﬁlﬂw
q?

Akbar / {Phd¥

Balban / ddidH

Mahmud of Ghazni / HgYg Te-Tdl

¢ Muhammad — bin- Tughlaq / HeH¥q fo=- LUNED
Correct Answer :-Mahmud of Ghazni / HeHg Terdt
15)

Question Stimulus :-

The two companions of Bhagat Singh who were hanged with him were /AP g Ebf m 2), ﬁF‘[%

Wi Rig & 14 widdt & 718 8
Sukhdev and Yashpal / &¢d qUT I=UTA
Sukhdev and Harikishan / J@qd a1 gRfe=

Rajguru and Sukhdev / TSR AYT @ d
e Rajguru and Yashpal / TSI YT YUATA

Correct Answer :-Rajguru and Sukhdev / XTSI YT '\ﬂﬁ%ﬂ
16)
Question Stimulus :-

Who has been selected as the brand ambassador for '"Digital India'" from Madhya Pradesh? /

f3forea gfear & e Awr yewr I 9 gis tausy 5 wafad fear man g2
e Pranav Mistry / YOI ﬁm}ﬂ
« Abhishek Bachchan / 3fHY® a<@+
e Krati Tiwari / $fd faart
« Ankit Fadia / 3% d wifear



Correct Answer :-Krati Tiwari / ?ﬁf faarst
17)
Question Stimulus :-

In which of the following cities is International Advanced Research Centre for Powder Metallurgy and
New Materials (ARCI) located? / $EX1dl TS dive Rud Hex BIR UrSsy Aeasl| €S
(TIHRHISATE) Pl YT 72

. Bangalore/a."'l?ﬁT

« Kolkata / ®IaPTdl

« Hyderabad / 83T9TIG

e Ahmedabad / S[gHGIdIg
Correct Answer :-Hyderabad / %ETWR{

18)

Question Stimulus :-

What is the name of the first super computer that India built? / HRd GIRT f=ftfa aduym qu
HIER BT T T 8?2

Param 8000 / U¥H 8000

Aryabhata / 3mdye
Agni / 3
Bhaskara / HT¥hR

Correct Answer :-Param 8000 / UXH 8000
19)
Question Stimulus :-

Which of these companies tied up with the government of Madhya Pradesh for Janani Suraksha

Yojana subsidy project? /37'“}[ REaC k| ﬂﬁ, qm ARXPR ﬁ, ST L3 LAl o1 Afost
TR & fort IEs vl 82

Airtel / TORCHA
Reliance / a9
Vodafone / GISTHIA
BSNL / SlgHTATqA

Correct Answer :-Vodafone / aSTQﬁT'[

20)



Question Stimulus :-

The minimum age of a member of the Rajya Sabha is years. / X[S[d HT T & ﬁ‘l"l{ Mt
TAaH Mg au gl

o 25
e 30
e 35
o 21
Correct Answer :-30
21)
Question Stimulus :-
What is the National Flower of India? / HIRd DT Tl'q_gﬂ'q gqyyq o 41 82
e Lily/ foreft
e Rose /[dld
e Lotus / PHA
e Sunflower / W’ﬂ@
Correct Answer :-Lotus / PH
22)
Question Stimulus :-

Pilgrim town Amarkantak is in which of the following district? / W< =M% SiRbes Fafafaa d A
fra ford o fRua 32

. Ashoknagar/Gﬁ‘ﬁW

e Anuppur / JUYX

e Khandwa / GUsdl

. Shivpuri/ﬁ'ﬁl’gﬁ
Correct Answer :-Anuppur / 3JUYgR
23)

Question Stimulus :-

CANCELLED
Which among the following pairs is correct? / frafufea 'ﬂTFﬁ' A B gt %?

e Banyan tree - Madhya Pradesh / e q& - 4 USRI



e Khejri tree — Uttar Pradesh / @Trl_éﬁ q&f — 3} o

o Ashok tree — Uttaranchal / 3/ g - IR

e Sal tree — Bihar / HT¢T 9&f - ﬁ?ﬂ'
Correct Answer :-Banyan tree - Madhya Pradesh / m q& - HY H%QT
24)
Question Stimulus :-

In which region of India, do you find Jarawa tribes? / HRd & 59 &7 ¥ MUt SIRaT S=efaai

?

Jharkhand / IRES
Odisha / 3Nfe=m

Andaman & Nicobar / SISHTH 94T ARIER

Rann of Kutch / & HI I

Correct Answer :-Andaman & Nicobar / 3[SHM TYT fAPER
25)

Question Stimulus :-

Light Energy is converted into Chemical Energy during the process of ./ UPIRA W'f, o

UfshaT & R T Soit & ufRafdd gidl 82
Photosynthesis / THTRRITAYT

Fat Metabolism / 9T SUTIIY
Transpiration / W

Respiration / -1

Correct Answer :-Photosynthesis / USRI RATOT

Topic:- Computer Operator and Programming Assistant

1)

Question Stimulus :-

In HTML, line break is inserted by . @ﬂ'@w ﬁ, m & gRI 37\‘1% foar sman %I

° <p>

o <]b>

o <br>

e <break>



Correct Answer :-<br>
2)
Question Stimulus :-

The loglcal topology of a twisted pair Ethernet in a physical star topology is ./ feforwa

WR erarare # fgees 99X SURAe 31 alfored crarare o -
e Bus topology / 99 LG
e Tree topology / Eff LG
e Star topology / WR eararelt
e Mesh topology / AT SgTErSlt

Correct Answer :-Bus topology / S luraieit

3)
Question Stimulus :-

The report generator is used in DBMS to . @ﬁé’f@@ T Ui S Rex &1 3uART & ﬁl"'{
o s 31

e format the data in a type that satisfies a particular human readership / SICT P 9 UPR | WiAe B
it fafkre gaue SR w1 dgee war g

e create files / BISc fhUc &

e insert files / TS S B3I
e create groups/'ﬂ'&?ﬁ)’({?aﬂﬁ

Correct Answer :-format the data in a type that satisfies a particular human readership / STCT DI IH PR A

Bide B o fafdre gaue SRy ot dge Hrar st
4)
Question Stimulus :-

Which of the following is the directory commonly used to store a website? / g 4 ¥ o9 ﬁ%ﬁm@mﬁ%‘&)
B AHIG: TP AqATSE DI TR B & I TART b Sirar g2

. /public//‘qf%c‘WT

e /home/ /3}5[

e /public_html / /If&T® TIITATS

e /home-/public / /'Eﬁ'q-m
Correct Answer :-/public_html / /m_m
S)

Question Stimulus :-



CANCELLED

TCP in networking, further breaks into ./ eafe | ST, 3T TAB |

fosfeagarg |
Folders / BIea?
Packets / ﬁm

Files / BpTgcH
Packs / 95

Correct Answer :-Packets /ﬁm

6)
Question Stimulus :-

What is uniquely used to identify a tuple in a relationship? / = 0 3 frge Sy s wu §
ot Ja e o ogud (tuple) B T B & fore favar @i 82

o Schema / THHT

e Primary key / PIER R K|

o Attribute / Tdisge

e Domain / S
Correct Answer :-Primary key / WSS} @1
7)
Question Stimulus :-
KB is PR

 Key Block / @1 i®

« Kernal Boot / d qc

* Kilo Bit / f&at fae

« Kilo Byte / forett arge
Correct Answer :-Kilo Byte / et amge
8)

Question Stimulus :-

The HTML element used to enter a scrolling area of text is . | TRC b THITeRT Eﬂ'qT Cal Tcr H b m
Y BF 9Te TadIvHTd Tde B -

e marquee / Aadf

e scroll / GhId



o text/CHRT

e move/Hd
Correct Answer :-marquee / Aadf
9)

Question Stimulus :-

In VBA, are used to declare every variable before it is used. / VBA ﬁ, u?aw %qua?r *
ST & Ugd 9 fEamR o1 & fog T IUART fapat SraT 3

e Option implicit / TR m

e Option explicit / ST wﬁ%ﬁr&

e Main implement/ o EWﬁ'ﬁE'

e Main termination / A9 A==
Correct Answer :-Option explicit / TR TERIRE
10)
Question Stimulus :-
'Is' command is used to list / "TACH HHIS BT S F ﬁl’E’ TART o Srar %
Contents of folders / W%ﬁm
Files / BTgal

Contents of files / BTgal @1 faugawg
Folders / BIca)

Correct Answer :-Files / BTSal

11)
Question Stimulus :-
First page of Website is termed as / aa'mg'e & Yy Uy 3| Dl SIidl %
 Homepage / W@T{ L)
e Index/ E%TT\‘T
e JavaScript / SITdl m
e Bookmark / W’I’(&
Correct Answer :-Homepage /W@q ﬁ\—rl)
12)

Question Stimulus :-



Light Pen is a ./Wﬂqw %I

e Magnetic Device /W%ﬁﬁﬂ

e Pointing Device /ﬂ%?_cr(‘cﬂ?{ﬁﬂ )%313?

e Optical Device / 3TPFHd fEarsa

e Electro Magnetic Device / gaaa‘r W f&arsw
Correct Answer :-Pointing Device / Sbaisfem fEasa
13)
Question Stimulus :-
SMPS isa : /SMPS 8 U :

e Power supply /ﬁﬂ?ﬁ'@ﬂ'ﬁc

e Control device / Wﬁ%ﬂ@

e Input device / §Yc fSarga
e Memory device / AR} farga

Correct Answer :-Power supply / UTaR T@TSg
14)
Question Stimulus :-
What do you mean by a soft copy? / TTUE HTUT & 3T T '\‘I'Hg-l?f %'?
e Hard Documents / §TS SiaIHeH
Printed Formats / fiics Dﬁﬁ?ﬂ
Document stored in storage media / et Hifear # @R fasar ﬁﬂ*{ﬁ?
All Documents / W} STRgAcH
Correct Answer :-Document stored in storage media / I€Ivel Hifgar # R frar mar siegde

15)

Question Stimulus :-

e-Commerce is i s‘-ﬁqﬁ % |
e Sale of product / IATG P1 fawt
e Banking business / 7T Taw™
o Business transaction / SATAATRI® 3Ha0T

o Business done electronically / §Aaei-® ¥4 I fhar 9+ a1 sgaam™



Correct Answer :-Business done electronically / Eﬁﬂfﬂ?ﬁ? ¥4 | far 9= qrar sgaar™

16)

Question Stimulus :-

In full duplex mode the communication is ./ Pd mﬁg ¥ 9OR g gl

e Unidirectional / Qﬂ?ﬁ'-‘{ﬂ'q

e Bidirectional / fgfe=ia

e Tridirectional / ez

e Multidirectional / agﬁ*\’ﬂtr
Correct Answer :-Bidirectional / fgfe=ia
17)

Question Stimulus :-

Comments in MS Excel can be added by ./ THEYH Qﬂ"\qﬁ s | ib“ﬁ'(.{ﬂ
Us frd sTa@d €1

Insert —* Comments / SeHc—® THHCH

o« Edit —* Comments / U2g —pFHcH
o File —* Comments /| FIEa —* FHcH
View —» Comments [ E-E‘[\—PEF-EIEF

Insert —* Comments /[ SoHc —* &HHcH
Correct Answer :-

18)
Question Stimulus :-

A computer readable code consisting of lines of varying widths, lengths is called a /an

USH1T B8 AAT-AAT NS, Fars 1 Ag1 A fad s9a1 8, 39 ISl

« Bar code /R ®IS

e Memory card / ARt FTS

¢ OCR/ 3N .3R

e ASCII code / T.UH.3H1.3M15.3TE DIS
Correct Answer :-Bar code / TR $IS
19)

Question Stimulus :-

& GRT

. | TP DR



What is document outline view in MS Office? / TH TH 3HiTbd & ﬁ?{ﬁ? ST3CEIg o T 22
e Full screen / & TP
e Print screen/ fiic wpie
e Margin view / mﬁhq
e View of structure & heading at various level / T¥TI &1 &g Td faftrd daa v gfen
Correct Answer :-View of structure & heading at various level / wmmqwﬁf‘wﬁaaw%ﬁw
20)
Question Stimulus :-
In Tally, is a fund in fund flow preparation. / aft ﬁ,_tFUE' et & fAafor o U BhUS %I
e Working capital / aféi1 Sfied
e Liabilities / ATafaferdler
e Cash / bank balance / $=1/8% 99
e Balance book / 98 [Cd
Correct Answer :-Working capital / aféiT $fied
21)
Question Stimulus :-
CANCELLED

Which of the following provides a set of choices to an user? / FafaRa a3 = Udh gol¥ @I fawea 31 U
Y= YeTH Hedl 82

e Button/dcH

o Text/CRE

o List/foree

e Combo /B
Correct Answer :-List / fore
22)
Question Stimulus :-

The equipment added to a computer system to enhance its functionality is called ./ PR R

P aRMac! ¥ gig H31 & T 396 e 9 aret sfdude &1 T gl
o Digital Device / f3forea fSargw
o System Add-on / Ried Ts-31F
e Disk Pack / f&%F U



e Peripheral Device / v fSasy
Correct Answer :-Peripheral Device / Wb feasw
23)
Question Stimulus :-
The characteristic of ROM that makes it usefulis _ / A9 F fa=rvar s 3'\% Iyt a=Tar % _

¢ the information of ROM can be edited easily. / I B AFDRT B AT A Jurfea foar s
&l g

e ROM chips are easily swapped between different brands of computers./ 0 g Tt & R
& fafira st & i sgelt o a@dl 31

e ROM provides very large amounts of inexpensive data storage. / A9 I ST F9a i qggd |
HTAT YT HdT g

e data in ROM is non-volatile, that is, it remains there even without electrical power. / A T 3T IR SRR

2, Waad g fagad i & e ot s g 21

Correct Answer :-data in ROM is non-volatile, that is, it remains there even without electrical power. / A BT

$TT IR AR &, Taas I8 fagaa wfea & femm W s war 81
24)
Question Stimulus :-

The short cut key used to highlight the entire column in Excel is ./ Eﬁ'\ﬁﬁ & '@' Hiay BI

TEdISe B3 & fore fh wide o1 &1 SuahT forar srar 82
e Ctrl + Space bar
o Ctrl+C
o Ctrl+A
o Ctrl + Tab
Correct Answer :-Ctrl + Space bar
25)
Question Stimulus :-
The short cut key to print a file is: / {3} BTIge B! fife H[ & forw AP 1 & -
o Ctrl +tA
o Ctrl+P
o Ctrl+X
o Ctrl+V
Correct Answer :-Ctrl + P

26)



Question Stimulus :-

What is an error in software or hardware called? / HTW 71 sﬁ%w - | ﬁﬁ' Cak:u)l CXIRSIGH %?

. Error/ﬁﬁ'(@?)

o Beg/ T

e Bug/d

 Mistake / TTad!
Correct Answer :-Bug / 91
27)
Question Stimulus :-

The ability of a device to jump directly to the requested data is known as . %a'l?,ﬂ P Reawds srera®

1Y 5y H B Qv pgandt 71

e Random Access / 38H Eﬁ'\qﬂ

e Sequential Access / HedRrae tg

e Quick Access / s Q@W

« All of the above / SuRIad It
Correct Answer :-Random Access / ¥8H Qﬂ'\qﬂ
28)

Question Stimulus :-

slot is a high speed point to point channel for attaching video card to computer's mother board. /

PR P IR AS A RN FEsRT IR P RU W TeSH TN BIURe ¢ Uec T @
e AGP
e VGA
« RAM
« ROM
Correct Answer :-AGP
29)
Question Stimulus :-
is NOT a type of network. / Acdd BT TS YR T8 8l
e LAN
e WAN

e ZAN



e SAN
Correct Answer :-ZAN
30)

Question Stimulus :-

is the task of performing operations like arithmetic and logical operations. /

ST AYT THIT S} HHard $31 &1 &1 2

Storing / e
Editing / Tf3fdw
Processing / TR
Sorting / it

Correct Answer :-Processing / TR

31)
Question Stimulus :-

In MS Excel, the intersection of a row and a column is called a

¥ yfoded ot eI STl ¢
. Square/HTf
e Row /3
o Cell/ a4
e Worksheet / Th2ite
Correct Answer :-Cell / 3
32)

Question Stimulus :-

_/uHUg UEd ¥, TP A 3R TH HIaH

Which of the following is NOT hardware? / @ ‘61%%11? :lﬁ%"

e Scanner / W

o Interpreter / $e¥Uex

o Printer / fiiex

e Mouse / HISYH
Correct Answer :-Interpreter / WX
33)

Question Stimulus :-



Which of the following is an example of an operating system? / = o O st Rvew &1 3gevur
P ATE?

Microsoft Windows / H‘I?{cl'ﬁﬂﬁ? CRIG

Microsoft Access / HTSHIATIR THRAY
Microsoft Word / m as

Microsoft Excel / HTSHIETGE TaAd

Correct Answer :-Microsoft Windows / mgaﬁﬁq%' fdsi=

34)
Question Stimulus :-
Who is referred to as the first computer programmer? / aﬁq q?ﬁ' W tﬁw * g o WM o % ?
e Bill gates / faw ﬁ@
e Lady Ada Lovelace / St TS Wy
e Von newmann / ?:ﬁT-[?IﬁT-[
e Charles Babbage / CIGECE]
Correct Answer :-Lady Ada Lovelace / St TSt Ty
35)
Question Stimulus :-

is a pictorial representation of solving a problem. / T AU BT REres Fegor
g Rusiesm) 21

e Picture/ f0RR
e Object/ e
e Algorithm / TR
e Flowchart / GacE
Correct Answer :-Flowchart / Feramé
36)
Question Stimulus :-
In VBA, a combo box is formed by combining / m ﬂ:, Tdh HIE! S E:Iﬁ Taiford $YP ST STl %
e Label & text box/ Agd @ TRT g
e List box & text box / free ST Ud ¢Re Sied
e Button & text box/§e- Td TRT FiaT

e Label & input box / A9d TG §TYC qIT



Correct Answer :-List box & text box / foIie STaT Ud ¢Re dia
37)
Question Stimulus :-
function is used to create a data table. / _WF‘T Cal G'Q'Cﬁ"T SIcl %TSIF[ ¥4 ¥ foraT Sran %I

Table

e Avg

e Add

e Count
Correct Answer :-Table
38)
Question Stimulus :-

In which of the following buttons is the Help menu available? / ﬁl"}l gl | @ mﬁ' 'ﬂﬂ'c{(%?q') ﬁﬁm Eﬂ?ﬂ
82

Windows / fa=sist

Restart / Y: TRY (ﬂ'\‘?ﬁf’)
Turnoff / 1 3ITH

Start / &fe

Correct Answer :-Start / I¢ic

39)

Question Stimulus :-

VBA respond to event using . a'ﬂ'l?, U 3%?." ¥ ufa 1 IUANT B IR ST B
e Text procedure / eRe URfeR

Object procedure / Sfsoige URfteR

Event procedure /@E’!ﬁ?ﬁﬁﬂ'

Code burner / H18 %

Correct Answer :-Event procedure / $d¢ Wi

40)
Question Stimulus :-

is altering of data so that it is not usable unless the alterations are undone. / ST T

ST B a1fds a9 a% 3T WA g1 f5a1 o G o9 9% IR S 7 gl



Biometric /amﬁﬁa?
Encryption AYE: =ik
Defragment/ fShe
e Compression / FHEIRE

Correct Answer :-Encryption /| TP

41)
Question Stimulus :-

The software used to create slide based presentation is: | XIS e T\‘ﬂﬁlﬁlﬂ TR A P ﬁl’Q’
AIFEdR $T UGN a1 St 3|

Microsoft office word / msaﬁw"ue 3y 98

Microsoft office Excel / ATSHIAIGE MThH Tad
Microsoft office PowerPoint / AT IATUC ATTHH Ulav@rse

Microsoft office Access / H‘W’\‘l’fﬂi’ 3Mfry E@'\‘T
Correct Answer :-Microsoft office PowerPoint / Hﬁﬁﬁ'\ﬁw 3MTry m

42)
Question Stimulus :-
The Function key for Help is . /'FIE_Q"(%?J') & ﬁl’Q’ HaRT Bt % 1
e F1
e F2
e F4
e F3
Correct Answer :-F1
43)
Question Stimulus :-
is the view of total database content. / Pd STeTdy Hec &l al%l

External view / TReAd &
Physical view /ﬁﬁlﬁa{

Conceptual view / ﬁ?ﬁ@@lﬁ g
Outline view / 3T3CeIgT

Correct Answer :-Conceptual view / BI~ATg3Hd

44)



Question Stimulus :-

The relationship between frequency and period is a/an relation. / WIgdd! adT difvas (Gﬂqﬁ[
TUT 3raftny & weg gay Y graT 2l

equal / YAl

inverse / ﬁ'\‘f
linking / feifd
custodian / HEISTT

Correct Answer :-inverse /ﬁ'\‘f

45)
Question Stimulus :-
CANCELLED
Firewall acts as a ./WTFI’_ %Wﬁwm%l
barrier in network / Je¢ad H AAY
defence in network security / Aead e | 3%y
model of network security / Aead RFRd & disa
e virus in network /3¢ad ﬁm
Correct Answer :-defence in network security / Aead Raaifed | fsha

46)

Question Stimulus :-

click opens the menu which contains relevant options. / m '\ﬂ' ﬁi[\’rh'qq Eﬁ?ﬂ %, ﬁ:mﬁ 3fa
fareaga e |

Left / 0
Right /XTgC
Centre / Je3
Back / 9&

Correct Answer :-Right /ITgC

47)

Question Stimulus :-

On which principle does the hard disk work? / ﬁ:r ﬁ ﬁl’&'ﬁl R ETé fewp o1 B %?
e Laser Field / Ao &3
e Optical Field / Gmﬁ <°3‘=r



o Magnetic Field / @I &7

e Electric Field / ﬁgﬂ?ﬁ'ﬂ &=
Correct Answer :-Magnetic Field / gF®1g &5
48)
Question Stimulus :-

does not harm the computer resource. / HRYCY Rt ot g1 :I—EﬂtIE?-THT ]

Worm / aid

Virus / digxd
Trojan horse / ﬁTrF-l B

Firewall / BTRRATA

Correct Answer :-Firewall / BRRGIA
49)
Question Stimulus :-
How many bits form a nibble? / IELERCH Udh ECGERIG] %'?
* 4
e 8
e 16
e 32
Correct Answer :-4
50)
Question Stimulus :-

graphs are used to show the percentage of a particular item. /

31 Iy fAfRry smgew &1 ufawra yelfa &3 & foe fosar sirar 81

e Bar/dR

Line / <TgA
Pie / UTS

Column / BTAH

Correct Answer :-Pie / tﬂ%
51)

Question Stimulus :-



is used to modify the way the browser displays the object. / HT IUANT TSR GRI

Jfssiae B USRI fFA 91 ard a8 B Uiy H1 & fore frar s 21

Tags / &g

Arguments / TgHcH

Attributes / T¢isgeq
Parameters / IRTHICH

Correct Answer :-Attributes / E'gﬂﬂ?'x‘l

52)

Question Stimulus :-

Which keys can be pressed to quit without saving in DOS? / P A B B %9 ¥ pos ¥ fa=T 9a f5a fde

foran o " ar 82

Ctrl+A

Ctrl+B

Ctrl+C

e CtrH+D
Correct Answer :-Ctrl+C
53)

Question Stimulus :-

In open office math is a / 3O SHifth A AY
¢ Document editor / S'\I"cRIﬂE' TSt
e Presentation tool / WSicXH gd
« Mathematical tool / #dRRF T ga
o Equation editor / TP TR Q‘%E'\'
Correct Answer :-Equation editor / TP U Q‘%ET
54)
Question Stimulus :-
CANCELLED

uniquely specifies the website address. /

CEGIR
e Web source / 99 T
o Website / aTsl'\EHEE'

gar gl

mwﬁaw@vaﬁﬁﬁwm/



e Web browser / 49 SIS
e Internet/ E?ﬁ?

Correct Answer :-Website / am

55)

Question Stimulus :-

What is a string of eight 0’s and 1’s called? / 3[T6 0°s TdUT 1°s a:"ri%n Wﬁﬁ'ﬁﬁ%"
o Bit/fae

Kilobyte / feamge

Byte / dTgC

Gigabyte KINICIEH

Correct Answer :-Byte / 9Tg¢

56)
Question Stimulus :-

What programs interact with the Kernel? / Fd & Y I A WU 3id: fobrar #wa %'?

Assembler / TUFTER
Hard drive / 318 $13d

Protocol / Iﬁﬁﬁﬁ
Shell /

Correct Answer :-Shell / R

57)
Question Stimulus :-

can be treated as the waiting room for the data of a computer’s processor. /

B HYEI $ UIAWR P STl & AT afe1 ¥9 & ¥ § ygad fear s a@ar 2|

e« ROM

¢« RAM

EPROM

e LAN
Correct Answer :-RAM
58)

Question Stimulus :-



were used in 2™ generation of computer. / BT IUANT HIYSY & 2:\; SRRE | fear

T YTl

e Vaccum tubes / aTRIFr s

e Transistor and Diodes / Eiforeex auT SHS

o Integrated circuits / ScUcs m

e Memory chips / U e
Correct Answer :-Transistor and Diodes / TifoRex aYT SHE
59)
Question Stimulus :-

is a cyber crime. / Th Higd URTY %I

IP address / 3"'5: i Q\%‘\q
IP Spoofing / TS, 4t TqfhT
IP Service / ané W afds
IP Entry / 315. 0 T=t

Correct Answer :-IP Spoofing / 3. U} Tgfth

60)
Question Stimulus :-

Which among the following is a server side JavaScript object? / frad P IR aqrgs G v
3lissrae §?

file upload / BTSd UTIS

function / oM

file / Igdl

typeof / CTSUSTH

Correct Answer :-file / BIgd

61)
Question Stimulus :-

The type of e-commerce that deals with auction is . / TR & 1Y I HIA a1l g-m
FTIPR S -

e B2B

e B2C

e C2B



e C2C
Correct Answer :-C2C
62)
Question Stimulus :-

is NOT a Popup box in JavaScript. / SaepE # U U937 Sied qﬁ%l

Confirm / H-Hd
Prompt/ e
Alert / QH?_F

Error /TR

Correct Answer :-Error / 33X
63)

Question Stimulus :-

In Excel, the cell address of 7t row & 7t column is / THIS H, 79 3 Td 73 Bfag &1 ad Y g
e F7
e G7
e H7
e E7
Correct Answer :-G7
64)
Question Stimulus :-

is used to add hardware, add/remove software, control user account and change access options. /
BT TART FTSAW STe, WFEddR SIEH/eH, ToR AbTde B Ffia o3 vd vy fawel &)
gga & forg fPar S 7 |
Task bar / CI¥P dIR
Start menu / TS ﬁT-L
Control panel / m LR
Icons / 3TgP

Correct Answer :-Control panel / $eId U

65)
Question Stimulus :-

In half duplex communication, ./ BTl :‘ﬂ:@?\q '\‘:ﬁrﬂ'ﬁ,—




e Only one party can transmit data during the entire communication / H'F'{Ufw H Had Udh Tl Set
T B GFdl §

e Both the parities can transmit but not at the same time / aﬁ‘rmz“fwﬂa B b d % UI~d Th é’f qHY
W el

o Both parties can transmit at the same time / U B g WR QY urdf Gila o= 9dd &
e No party can transmit/ﬂﬁg ﬁuﬁwﬁaqﬁmmﬁﬁ%

Correct Answer :-Both the parities can transmit but not at the same time / Y urdf Heivd #% 9@d % R
TS &1 GHI WX g1

66)
Question Stimulus :-

The width of the file extension in MS Office 2007 has characters./ THZH 3fp< 2007 § wIgd 'QW%'QF‘T
G311 PIGT P g

e 4
o 2
e 3
e 5
Correct Answer :-4
67)
Question Stimulus :-
is a common text editor. / _ Wh HIHI TRe Q'%ET % |
¢ MS Paint / TH.TH. Ue
e Notepad / Aets
¢ MS Word / TH.UY. 98
o Vi/dl
Correct Answer :-Notepad / Aets
68)
Question Stimulus :-

What is used by a user to access the Mainframe and the Supercomputer? / m(q\\_rﬂ') GRT A qYT qu
FIER B THIT B & g 399 | fhaesT SudT fbar wmar 82

e Handheld / 288cS
e Terminal / effaa
e Laptop/ dAvery



e Node/dS
Correct Answer :-Terminal / eff=a
69)
Question Stimulus :-

command is used to duplicate the entire disk in DOS. / HHIS BT IUANT DOS

T g e B wRafif o= & R e oiran 21
Format / BTHE

Fat /e

Diskcopy / f&&m®1dl

Virtualcopy / Tg3@a Ut

Correct Answer :-Diskcopy / fex@® dt

70)
Question Stimulus :-
is NOT an e-Payment. / Udh g'HTHT'_‘T :I—Eﬂ%l
e-Cheque / 3P
Debit card / $fde 18
Credit card / $fsc oS
Cash on delivery / F1 31t fSferadt

Correct Answer :-Cash on delivery / Fo1 3117 f3ferast

71)
Question Stimulus :-

is a collection of system programs that controls the operation of computer. / Rreey vyl &1

TS HIE & o $HER & WaTa B FRd st 2

e MS Office / TH.QH. T

e DOS /319 (& MR Rwew)

e Application Program / TWIIh R TIUTH

e Interface /E'ETW
Correct Answer :-DOS / SI9 (%W SR ﬁRETD
72)

Question Stimulus :-

HTML document is saved in . @a’m m'la\_r[ 3| H g fHar srar % |




ASCII Text / ASCII ¢Re

Machine language codes / =i YT s
Special binary format / TS fg3MuURt wite

BCD codes / BCD &8

Correct Answer :-ASCII Text / ASCII TRE
73)
Question Stimulus :-
Application program is used for . E@Iﬁﬂ'ﬁ UNITH &1 WGRT PP f%n: foran sman %I
 Running a program / WTTH &I T
e Developing a program / TS SaaY
e Debugging / feafiim
e Accomplishing a task / Waﬁqm
Correct Answer :-Accomplishing a task / ST &I Q3T
74)

Question Stimulus :-

Which option is used to print on both sides of the paper? / P 91 fdded FRTS & SHI RE Hﬁ'ﬂ PP ﬁﬂ'{
SUURT {5 SIrar §2

e Double Capture / SIA PR

e Double sided printing / saq aTgss fufdr

e Double printing / saa fufen

e Double page printing / sad U ffdn
Correct Answer :-Double sided printing / 9@ A58 S fUfdT
75)
Question Stimulus :-

is the heart of the computer. / W Pl ead %I

e ALU

e RAM

o CPU

¢ ROM

Correct Answer :-CPU



